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SAMPLE PAPER - 2008
Subject – Chemistry

CLASS – XII

Time: Three Hours







 Max. Mark: 70

General Instructions

1. All questions are compulsory.

2. Question nos. 1 to 8 are very short answer questions and carry 1 mark each.

3. Question nos. 9 to 18 are short answer questions and carry 2 marks each.

4. Question nos. 19 to 27 are also short answer questions and carry 3 marks each

5. Question nos. 28 to 30 are long answer questions and carry 5 marks each

6. Use log tables if necessary, use of calculators is not allowed.

1.
Define “Kraft” temperature.






1



2.
What are double salts? Give one example.





1

3.
A person suffering from high blood pressure should take less common salt, why?
1

4.
Draw the structural formula of  Hex-2-en-4-ynoic acid.



1

5.
What is the main purpose of vulcanization of rubber?




1

6.
Why do soaps do not work in hard water?





1

7.
Arrange the following in increasing order of basic strength:


Aniline, p-nitroaniline and p-toluidine





1

8.
What are reducing sugars?  Give one example.




1

9.
If the radius of the octahedral void is r and radius of the atoms in close packing is 
R, 
derive relation between r and R.






2

10. 
Analysis shows that nickel oxide has the formula Ni0.98O1.00.What fractions of 



nickel 
exist as Ni+2 and Ni+3 ions?






Or


Explain the following with suitable examples:


i)
Ferromagnetism


ii)
Ferrimagnetism


iii) 12-16 and 13-15 group compounds.





2

11.
State Henry’s law and mention some important applications?


2

12.
Copper can be extracted by hydrometallurgy but not Zinc. Explain.


2

13.
How would you account for the following:


a) Of the d4 species, Cr+2 is strongly reducing while manganese (III) is strongly 
oxidizing.

14. 
Indicate the steps in the preparation of  KMnO4 from Pyrolusite ore?

2

15.
Explain why 


i) the dipole moment of Chlorobenzene is lower than that of cyclohexyl chloride.


ii) Alkyl halides, though polar, are immiscible with water.


iii) Grignard reagents should be prepared under anhydrous conditions?

2

16.
Write the structure of the major organic products in each of the following reactions:




          Acetone


a) CH3CH2CH2Cl + NaI 
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Heat






  Ethanol



b) (CH3)3CBr + KOH      
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   Heat




      

 Peroxide

c) CH3CH2CH=CH2 + HBr
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2

17.
Define thermoplastics and thermosetting plastics with two examples each.

2

18.
How do antiseptics differ disinfectants? Give one example of each.


2

19.
A solution containing 30 g of non-volatile solute exactly in 90 g of water has a 
vapour 
pressure of 2.8kPa at 298K. Further, 18 g of water is then added to the 
solution and 

the new vapour pressure becomes 2.9kPa at 298K. Calculate

i) 
molar 
mass of the solute

ii) vapour pressure of water at 298 K.


3

20. 
Three electrolytic cells A, B, C containing solutions ZnSO4, AgNO3 and CuSO4 
respectively are connected in series. A steady current of 1.5 ampere was passed 
through 
them until 1.45g of silver deposited at the cathode of cell B. How long 
did the current 
flow? What mass of copper and zinc were deposited?



3

21. Explain what is observed


i) When a beam of light is passed through a colloidal sol


ii) An electrolyte, NaCl is added to hydrated ferric oxide sol.


iii) Electric current is passed through a colloidal sol.




3

22.
The choice of reducing agent in a particular case depends on thermodynamic factor. How 
far do you agree with this statement? Support your opinion with two examples.
3

23.
Explain giving reasons:


a) Transition metals and many of their compounds show paramagnetic behaviour.


b) The enthalpies of atomization of the transition metals are high.

b) Cobalt (II) is stable in aqueous solution but in the presence of complexing 



reagents it is easily oxidised.







2


c) Transition metals and their many compounds act as good catalyst.

3

24. Explain the following with an example:


a) Kolbe’s reaction


b) Reimer-Tiemann reaction


c) Williamson ether synthesis.






3

25. Arrange the following in the order of property indicated for each set:


i) F2, Cl2, Br2, I2- increasing bond dissociation enthalpy.


ii) HF, HCl, HBr, HI- increasing acid strength.


iii) NH3, PH3, AsH3, SbH3, BiH3- increasing base strength.



3

26.
Account for the following:


a) Ethylamine is soluble in water whereas aniline is not.


b) Although amino group is o- and p- directing in aromatic electrophilic substitution 
reactions, aniline on nitration gives a substantial amount of m-nitroaniline.


c) Gabriel phthalimide synthesis is preferred for synthesizing primary amines.
3

27.
Write the important structural and functional difference between DNA and RNA.







Or


What are the common types of secondary structure of proteins? Explain

3

28.
During nuclear explosion, one of the products 90Sr with half-life of 28.1 years. If 1
[image: image4.wmf]m

g of 
90Sr was absorbed in the bones of a newly born baby instead of calcium, how much of it 
will remain after 10 years and 60 years if it is not lost metabolically.






Or


The rate of a reaction quadruples when the temperature changes from 293 k to 313K. 
Calculate the energy of activation of the reaction assuming that it does not change with 
temperature.









3

29. 
a) Write the balanced equations for the following:


i) NaCl is heated with sulphuric acid in the presence of MnO2

ii) Chlorine gas is passed into a solution of NaI in water.


b) How are XeO3 and XeOF4 prepared?






Or


Explain the following:

a) Why does NH3 form hydrogen bond but PH3 does not?


b) Why does R3P=O exist but R3N=O does not (R= alkyl group)?


c) Why are halogens are strong oxidizing agents?


d) Why is dioxygen a gas but sulphur a solid?


e) Why do noble gases have comparatively large atomic sizes?


5

30. 
a) An organic compound contains 69.77% of carbon, 11.63% hydrogen and rest oxygen. 
The molecular mass of the compound is 86. It does not reduce Tollen’s but forms an 
addition compound with sodiumhydrogensulphite and give positive iodoform test. On 
vigorous oxidation it gives ethanoic and propanoic acid. Write the possible structure of the 
compound.


b) There are two –NH2 groups in semicarbazide. However, only one is involved in the 
formation of semicarbazones.Why?







Or


a) An organic compound (A) (molecular formula C8H16O2) was hydrolyzed with dilute 
sulphuric acid to give a carboxylic acid (B) and an alcohol (C).Oxidation of (C) with 
chromic acid produced (B). (C) on dehydration gives but-1-ene.Write equations involved.


b) Give simple chemical tests to distinguish between the following pairs of compounds.


i) Propanal and propanone

ii) Benzoic acid and ethyl benzoate.

5
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